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1 (fgArea = NA)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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P3-13

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS EFRE

07:40 300 150.0 2.888 B5| FnHA@O7:40 KRENFEF (KREAFEEE)
08:20 300 150.0 2.888 RS ThHA@O8:20 kENFEF (KAfEEER)
09:00 300 150.0 2. 888 RS FiHA@09:00 KREFEF (KREERHSE)
09:35 300 150.0 2.888 R5| TiHAe09:35 KHEIERF (RAEFEHES)
10:20 300 150.0 2.888 Ag| FnHfe10:20 KRHEFEF (KREFERES)
11:00 300 150.0 2. 888 RS FhHAe11:00 KEIEF CKAFEER)
11:35 300 150.0 2. 888 RS FaHA@11:35 KENFEF (CRAfEEEE)
12:10 300 150.0 2.888 B ThHR@12:10 KENFEF (RA{EEEE)
12:45 300 150.0 2.888 Be| ThiHHe12:45 RHEF (RAEZRERE)
13:20 300 150.0 2. 888 R5| TiHAe13:20 KRHIERF (RAEHS)
13:55 300 150.0 2.888 B TmHA@13:55 KENFEF (RAA{EEEE)
14:30 300 150.0 2. 888 RS ThHA@14:30 KEIEF CGRAFERE)
15:10 300 150.0 2. 888 RS FmHA@15:10 KENFEF (RA{EEEE)
15:55 300 150.0 2.888 A5 FhHAe15:55 KREEF (KAHEKSE)
16:50 300 150.0 2. 888 RS ThHA@16:50 KENFEF (KRAMHEEER)
21t 4500.0 (15)%) 2250.0 3 WUFHKEC: 2080.0, PH: 5.8

[E&REC 7073.0 K&, iU F{KECAE:&Pi%ER
HEEIKECE (1877.0 vs 7073.0) 15




FRV (ml plant-1)
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P3-13_0, Day=68 (2025-06—07)
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P3-13

FfiE) | EBIAT (FD) | ERE (BEA/) | BEREE(B/R) | XS ERE

06:35 283 150.0 2. 888 RS {Ri%e06:35 Bzt (REAERSE)
07:05 283 150.0 2. 888 S| {Ri&e07:05 Bal (REAERHSE)
08:00 283 150.0 2.888 BE| {RRi%@08:00 Bz (RFEAEREEE)
08:40 283 150.0 2. 888 RS {Ri%e08:40 Bz (REMERESE)
09:15 283 150.0 2.888 RSl {Rige09:15 Bal (REAERHSE)
09:45 283 150.0 2.888 BE| {Ri&e09:45 B (REAEHE)
10:15 283 150.0 2. 888 e Rige10:15 Bz (REAERSE)
10:45 283 150.0 2.888 el Rige10:45 Bal (REAEESE)
11:15 283 150.0 2.888 el Rige11:15 Bz (REAERSE)
11:50 283 150.0 2. 888 B Rige11:50 Bz (REAERE)
12:35 283 150.0 2. 888 el Rige12:35 Bal (REAEESE)
13:10 283 150.0 2.888 el Rige13:10 Bzl (REAEHE)
13:40 283 150.0 2.888 A5| 1Ri%e13:40 Bz (REfERS)
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14:55 283 150.0 2.888 BE| Rige14:55 B (REAEHSE)
15:35 283 150.0 2.888 BS| 1Ri%e15:35 B (GREMEESE)
16:15 283 150.0 2. 888 B Rige16:15 Bzt (REAERSE)
17:00 283 150.0 2.888 S| 1Rige17:00 Bzh (GREERE)
24it]5094.0 (18%%) 2700. 0 3E S KEC: 2080.0, PH: 5.8

TERRHLER 2 STEIEARTF (184.0 :

ZRIAEBRIERE142.0 ml.

[E;%EC 6343.0 K5, EiFHAKECAE & hikER
HEEIHECE (1820.0 vs 6343.0) 05

142.0), AIEEHT—R L XA HS




P3-13_0, Day=67 (2025-06-06)
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P3-13

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:30 283 150.0 2.888 B 1Ri%e07:30 Bah (REEESE)
08:05 283 150.0 2.888 |Z=| {Ri%e08:05 Bz (KREERHE)
08:40 283 150.0 2.888 |Z=| {Ri%e08:40 Bz (KREERESE)
09:15 283 150.0 2.888 FA| 1BRi%@09:15 B (FkAERSE)
09:50 283 150.0 2. 888 FH| 1Ri&@09:50 B (KAHEREE)
10:25 283 150.0 2.888 FH| 1Bi&@10:25 Bzh (RAEREE)
11:00 283 150.0 2.888 FA| {Ri&e11:00 Bzl (GRAEESE)
11:35 283 150.0 2.888 FA| {Ri&e11:35 Bz (GRAEEE)
12:15 283 150.0 2. 888 FH| 1Ri%e12:15 Bzh (kBERSE)
12:55 283 150.0 2.888 FA| {Ri&e12:55 Bzl (GkAEEE)
13:35 283 150.0 2.888 |Z=| {Ri%e13:35 Bz (REAEZEHE)
14:10 283 150.0 2.888 |Z=| {Rige14:10 Bz (REAEBE)
14:55 283 150.0 2.888 |&Z=| {Ri%e14:55 Bz (REEHE)
15:55 283 150.0 2.888 |Z=| {Ri&e15:55 Bz (REAEHE)
16:55 283 150.0 2.888 |Z=| {Rige16:55 Bz (KREAEHE)
Bit| 4245.0 (15%%) 2250.0 3 WUFHKEC: 2080.0, PH: 5.8

FERRNEREEFEEART (184.0 : 139.0), AgEHF—RE XAHS
ZRIAEBRERE139. 0 ml.

[E&EC 5983.0 K5, #iXF{KECAE & HikER

FHERECE (1773.0 vs 5983.0) 15



FRV (ml plant-1)

ET (ml/hr/plant)

P3-13_0, Day=66 (2025-06-05)

T e g g S S S B S
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80 Warning: lcol [FVI',| "FVO’'] missing 160

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-13

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:10 288 150.0 2. 888 B {Ri&e07:10 Bz (REERSE)
07:45 288 150.0 2.888 BE| {Ri&e07:45 B (REAEHE)
08:20 288 150.0 2. 888 BE| 1Ri%e08:20 B (KRF{EREE)
08:55 288 150.0 2.888 BE| {Ri&e08:55 B (REAEEE)
09:30 288 150.0 2.888 RS {Ri%@09:30 B (REAEHE)
10:05 288 150.0 2. 888 BE| 1Ri%e10:05 Bz (RF{EREE)
10:40 288 150.0 2.888 el Rige10:40 Bal (REAEESE)
11:15 288 150.0 2.888 el Rige11:15 Bz (REAERSE)
11:50 288 150.0 2. 888 BE| BRi%e11:50 Bz (GREAERESE)
12:35 288 150.0 2. 888 el Rige12:35 Bal (REAEESE)
13:15 288 150.0 2.888 | Ri%e13:15 Bz (REAERESE)
13:55 288 150.0 2.888 BS| 1Ri%e13:55 Bz (GREMEESE)
14:35 288 150.0 2.888 s {Rige14:35 Bal (REEESE)
15:15 288 150.0 2.888 el Rige15:15 Ba) (REAEHSE)
15:55 288 150.0 2.888 BS| 1Ri%e15:55 B CGGREEESE)
16:40 288 150.0 2. 888 BE| 1Ri%e16:40 Bz (RF{EREE)
21t] 4608.0 (167%) 2400.0 3233 %EC: 2080.0, PH: 5.6

TERRHER 2 STEIELRT (187.0 :

ZRIAEBRIERE141.0 ml.

[B&EC 5750.0 K&, EiXF{KECAE&HikER
H#EIHECE (1780.0 vs 5750.0) 5

141.0), AlEEHT—R L XA HS




P3-13_0, Day=65 (2025-06—04)

T e g g S S B S g
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P3-13

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:50 300 150.0 2.888 B 1Rige07:50 Fzh (REEEE)
08:25 300 150.0 2. 888 BE| 1Ri%e08:25 Fzh (KL
09:00 300 150.0 2. 888 BE| 1Ri%e09:00 Fx (REEEE)
09:35 300 150.0 2.888 B 1Ri%e09:35 Fzh (REEESE)
10:10 300 150.0 2.888 S| 1Ri%@10:10 F3h (REEZRSE)
10:45 300 150.0 2. 888 BE| {Ri&@10:45 Fr (REEESE)
11:20 300 150.0 2.888 B 1Rige11:20 Fzh (REERESE)
12:00 300 150.0 2.888 S| Rige12:00 Fz (REAEHE)
12:45 300 150.0 2. 888 S| Rige12:45 Fr (REEESE)
13:20 300 150.0 2.888 el Rige13:20 Fz (REAEHE)
14:00 300 150.0 2.888 RS Rige14:00 Fz (REAEHE)
14:40 300 150.0 2. 888 BE| 1Ri%e14:40 Fzh GGRFEAERESE)
15:25 300 150.0 2.888 el Rige15:25 Fz (REAEHE)
16:05 300 150.0 2.888 BE| Rige16:05 Fz (REAEHE)
16:50 300 150.0 2. 888 BE| 1Ri%e16:50 F3zh (RF{ERE)
24t | 4500.0 (15%%) 2250.0 3 WH%EC: 2080.0, PH: 5.6
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